3oHanbHBIE COPpeBHOBaAHMS KOMaHAHOTO nepseHcTBa ['Y O®CK "VYpoxkaii" — Ucnabkynb-2017

Ct.HoM.| Komanna 2 3[4 |56 |7|8]9 (10|11 |MO,|(Ouku Mecto
1 |Yepmakckwii p-H 05({1,0({1,5125(3,0(1,5|1,5|1,5({1,0]12,0] 5 16,0 9
2|Omckwmit p-H 35( * 11,012,0(2,0(3,012,0{2,0({1,0]3,0]1,5( 10 | 21,0 6
3|llepbakymnbckuii p-H 30130 * [2,5](4,0(2,5]25(3,0(2,0({3,5|1,0| 17 | 27,0 1
4|VcunbKyabCKui p-H 25120(1,5] * [3,013,0(2,0(2,5]3,0/3,0(1,0( 14 | 23,5 4
5|MapbsSHOBCKHI p-H 1,512,0(00]|1,0] * [3,5]2,0]1,5({2,0]2,0]2,0( 7 17,5 8
6|HaspiBaeBckwii p-H 1,0(1,0(1,5]1,0]0,5] * {1,5(1,011,0]2,0{00( 1 10,5 11
7|Pyccko-Tonstackuii p-1 [ 2,5(2,01,512,0(2,0(25[ * |1,5]1,0125(0,0[ 9 17,5 7
8|OxonemaukoBCckuii p-1 | 2,5(12,0 (1,0 1,5]12,5(3,012,5| * [1,0|14,0]| 1,5 11 21,5 5
9|MockaneHCKHH p-H 2,513,0(2,0]1,0{2,0(3,0(3,0]3,0] * [3,0]3,0] 16 | 25,5 3

10|Onecckwuii p-H 3011,0(0,5(1,0{2,0]20]|1,5(/0,0({1,0 * |0,5]| 4 12,5 10
11|KopmusoBckuii p-u 2,012,5(3,013,0[2,0({4,0]|4,0](2,5([1,0|3,5]| * 16 | 27,5 2
3. Mep6akymsckuii p-H (17 MO/27,0 Oukn)

Hdocka HNmsa 1 3|14]|S5 7| 8|9 |10]| 11 |Ouxku | Hapruu| %
1 {T"aiimamak AHaToaui 1 =10 1 = 1 = 1 1 = 7,0 10 70,0
2 |bonpiiakoB Asekcanap =10 1 1 1 1 0]l =120 = 5,5 10| 55,0
3|Anpxanos CanaBar 1 0 1 1 = 1 1 1 1 = 8,0 10| 80,0
4|I'mmanosa Panna 1 = 1 0 = 1 1 0 1 = 6,5 10| 65,0

11. Kopmunosckwii p-a (16 MO/27,5 Oukn)

Hdocka Hmsa 112 |3 |4((5]6 8|19 (10 11 [ Ouxku | Hapruu| %
1|CmupHOB Bramgumup Of=101]0 1 1 {=]1=11 0 4,5 10| 45,0
2|CmupHOB AJtekcaHp 1 1 1|0 1 1 00| = 0 5,5 10| 55,0
3|CmupHoB MBan 1 1 1 1 1 1 1 = 1 1 9,5 10| 95,0
4|CmupnoBa TatbsiHa = | = 1 1 1 1 1 0 1 1 8,0 10 80,0

9. Mockanenckwuii p-H (16 MO/25,5 Oukn)

Jocka HNms 1|12 |3 |4 (56| 7| 8|9 10|11 [Ouxu| Hapruu| %
1 |Mokuisxk Hukonait 0Oj]0]0(|O0{|O 0O(=1060 = 2,0 10| 20,0
2|T'yn3oBckuii UBan 0 1 1 1 1 1 1 = | = = 7,5 10| 75,0
3|bacaprun I'puropuit 010 1 1 1 1 =11 1 = 7,0 10| 70,0
4|JTo6oBa CBeTirana 1 1 1 1 1 1 1 = = 9,0 10 90,0

4. Ucunbkynbekuit p-H (14 MO/23,5 Oukn)

Hdocka Hmsa 112 |3 |4 (56| 7 )|8]|9 10|11 [Ouku| Hapruu| %
1|Cymiko JImutpuit 1 1 1 |=111= 1 1 0 0 7,0 10| 70,0
2|BaxpymieB Anekcanap 1 1 0|1 00 0O(=10 = 4,0 10| 40,0
3|3yokoBckuii Ban 1 1 o] =111-= 1 1 1 1 8,0 10| 80,0
4|I'unp TarpsHa 0 0 0| =1]101]= 1 = 1 1 4.5 10| 45,0

8. OxonemraukoBckuid p-H (11 MO/21,5 Oukn)

Jocka HNms 1|1 2|3 [4]|5]|6 8|9 (10 11 |[Ouxu | Hapruu| %
1|Konoganos IOpuit 010 1 1 1 {=]1=1]1 0 6,0 10| 60,0
2|3axapoB Buranuit 1 1 = 0 1 1 1 1 1 = 8,0 10| 80,0
3|7’Kopos Jlenuc = 1 1 0 1 0 1 0 0 0 4.5 10| 45,0
4|CrenanoBa Enena 1|0 O(1[0]0]O0]O0 0 3,0 10| 30,0




2. Omckwit p-a (10 MO/21,0 Oukn)

Hdocka HNmsa 1 (2|3 ]|4]|S5 7| 89 |10]| 11 |Ouxku | Hapruu| %
1|ITaceBnu Banepwuii 1 = 0 0ol =10 0] 0 0 1 3,0 10 30,0
2|KapnoB KoncranTtun 0 1 0 1 0 1 1 0| = 1 5,5 10| 55,0
3| Anpumenckuit Erop 0] 1 0101 1 1 1|0 0 5,0 10{ 50,0
4|BepxoBonko Codust =11 1 1| =11 o1 = 1 7,5 10| 75,0

7. Pyccko-Tlonsackuii p-H (9 MO/17,5 Oukn)

Hdocka HUmsa 112 |3 |4 (56| 7 )|8]|9 10|11 [Ouku| Hapruun| %
1|TTucapeB Koncrantun 0 0 1 1 0| = 1 0 1 0 4.5 10| 45,0
2|Komoruit Anexcanap = =10 1 0ol =10]-= 1 1 5,0 10 50,0
3|KokabaeB Ecmyxamer 1 0 0 0 0 1 0 0 0 0 2,0 10 20,0
4(Mymxunckas Pumma 1 1 o=10]-= 1 1 0 1 6,0 10 60,0

5. MapbsHoBckwid p-H (7 MO/17,5 Oukn)

Hdocka HNmsa 1 (2|3 ]|4]|S5 7| 8|9 |10]| 11 |Ouxku | Hapruu| %
1|Crapomy6rieB Bacummit 1 1 1 1{=]1=1]1010 = 1 6,5 10| 65,0
2|Uynun Cepreit 0101 110 |1]0]1 1 0 5,0 10{ 50,0
3|Kpamep Anekceit =|1]0]0|1T[0]O0]O0 1 1 4,5 10{ 45,0
4|BonkoBa Banepus 0 0] 0 0| =10 0 1 0 1,5 10| 15,0

1. Yepnaxckuii p-H (5 MO/16,0 Ouxwu)

Hdocka Hmsa 1123 6 9 (10 ( 11 [ Ouxu | HapTuu| %
1|Bunnuyenko Braaumup = 1 = | = 1 = | = 1 1 1 7,5 10 75,0
2| Tutos ['puropuit 0[0]O0 1 0O(=101]=10 1 3,0 10| 30,0
3|Koxxyxap Muxanmn O[O0 =1]0 1 O[O0 0] O0 0 1,5 10| 15,0
4|HaymoBa EnuzaBera 0 0| = 1 1 = 1 0 0 0 4,0 10| 40,0

10. Onmecckwuii p-u (4 MO/12,5 Oukwn)

Hdocka HNmsa 1 (2 |3|4 |56 ]| 7| 8|9 |10| 11 |Ouxku| Hapruu| %
1| IHagpun [aBen Oj]ofO0OfO0OfO0O]O0]1 0|0 0 1,0 10{ 10,0
2|Pynu Cepreit =[0]0]0])0(|O0(]O0 =1 0 2,0 10{ 20,0
3|BepOunkuii J{murpuii 0101 1 110} 0 0|1 1 5,0 10{ 50,0
4|IImagn Onbra 0 1 1 1 =10 0 0 1 0 4.5 10| 45,0

6. HazpiBaesckuii p-H (1 MO/10,5 Oukn)

Hdocka HUmsa 1112|3456 7 9 (10 ( 11 [ Ouxu | HapTuu| %
1|ITuckyHoB Bsiuecnan 1 1 1 1 0 0 1 =10 | = 6,0 10| 60,0
2|TTuckyHoB Biagumup =101] 0|1 0 1 0 1 =10 4,0 10| 40,0
3|UBanoB Unes ojofofofjojoO0o]JoOo|O|O0]O 0,0 10{ 0,0
4|AxmeroBa /{una 0 0 010 0 0 0 0]l =120 0,5 10| 5,0

[maBHbIV cyabs A. B. llybawios

[maBHbIV cekpeTapb

E. C. llybawosa




